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P - II (1+1+1) G / 20 (N)

2020

BOTANY (General)
Paper Code : BOTG - IV - A & B

[New Syllabus]

Important Instructions
for Multiple Choice Question (MCQ)

 Write Subject Name and Code, Registration number, Session and Roll
number in the space provided on the Answer Script.

Example : Such as for Paper III-A (MCQ) and III-B (Descriptive).

Subject Code : III A & B

Subject Name :

 Candidates are required to attempt all questions (MCQ). Below each
question, four alternatives are given [i.e. (A), (B), (C), (D)]. Only one
of these alternatives is ‘CORRECT’ answer. The candidate has to write
the Correct Alternative [i.e. (A)/(B)/(C)/(D)] against each Question No.
in the Answer Script.
Example — If alternative A of 1 is correct, then write :

1. — A
 There is no negative marking for wrong answer.
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Paper Code : BOTG - IV - A
Full Marks : 16 Time : Thirty Minutes

Choose the correct answer.

Each question carries 1 mark.

1. Which one is not a pollutant normally ?

(A) Hydrocarbon

(B) Carbon dioxide

(C) Carbon monoxide

(D) Sulphur dioxide

1Ð !˜Á¬!œ!…“þ ö„þy˜!Ýþ ”)¡ì„þ þ™”yíÅ ˜ëû Úé

(A) £y£zöìvÈþy„þyîÅ̃

(B) „þyîÅ̃  vþy£z x:y£zvþ

(C) „þyîÅ̃  ›öì̃ y:y£zvþ

(D) ¢yœšþyîû vþy£z x:y£zvþ

2. Upper part of sea/aquatic ecosystem contains —

(A) Plankton

(B) Nekton

(C) Plankton and nekton

(D) Benthos

2Ð ¢›%o îy ‹œ‹ îylßþ“þöìsþfîû vþzþ™!îû¦þyöì† !˜Á¬!œ!…“þ ö„þy ä̃ ‹#î ö”…öì“þ þ™yçëûy ëyëû éôôôé

(A) ²ÕyBþÝþ˜

(B) ö˜„þÝþ˜

(C) ²ÕyBþÝþ˜ ç ö˜„þÝþ˜

(D) öî˜í¢
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3. A mutually beneficial association necessary for survival of both partners is —

(A) Commensalism

(B) Amensalism

(C) Mutualism/symbiosis

(D) Both (A) and (B)

3Ð ”%!Ýþ ‹#öìîîû ›öì•Ä þ™yîûßþ™!îû„þ vþzþ™„þyîû# ¢‚†àþ˜öì„þ îœy £ëû éôôôé

(A) „þöì›˜öì¢!œ¢›

(B) xÄyöì›˜öì¢!œ¢›

(C) !›vþz‰%þëûy!œ¢› / !¢›îyöìëûy!¢¢

(D) (A) ç (B) ”%!Ýþ£z

4. The relation between algae and fungi in lichen is —

(A) Commensalism

(B) Symbiosis

(C) Protocooperation

(D) Parasitism

4Ð ÷Ÿîyœ ç Šéeyöì„þîû ¢‚‡îkþ ¢Á™„Åþöì„þ îœy £ëû éôôôé

(A) „þöì›˜öì¢!œ¢›

(B) !¢›îyöìëûy!¢¢

(C) ö²ÌyöìÝþyöì„þyxþ™yöìîûŸ˜

(D) þ™Äyîûy¢y£z!Ýþ¢›

5. In a community, food chains are linked together to form —

(A) Food niche

(B) Food web

(C) Ecosystem

(D) Ecological niche
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5Ð ~„þ!Ýþ îylßþ“þöìsþf …y”ÄŸ,Cœ ~öì„þ xþ™öìîûîû ¢yöìí ë%_« £öìëû ÷“þîû# „þöìîû éôôôé

(A) š%þvþ !˜‰þ

(B) …y”Ä ‹yœ

(C) îylßþ“þsþf

(D) £zöì„þyœ!‹„þyœ !˜‰þ

6. Venation is a term used to describe the pattern of arrangement of —

(A)  Floral organs

(B)  Flower in inflorescence

(C)  Veins and veinlets in a lamina

(D)  All of them

6Ð ö¦þöì̃ Ÿ˜ Ÿ·!Ýþ îÄî£yîû „þîûy £ëû !˜Á¬!œ!…“þ ö„þy˜!Ýþîû ¢Iyîû#!“þöì„þ î’Å̃ y „þîûöì“þ éôôôé

(A) þ™%Ü™hßþîöì„þîû ¢Iyîû#!“þ

(B) þ™%Ü™”öì[þ š%þöìœîû ¢Iyîû#!“þ

(C) þ™öìe !Ÿîûy vþzþ™!Ÿîûyîû ¢Iyîû#!“þ

(D) vþzþ™!îûvþz_« ¢î=öìœy

7. A flower with both essential and non-essential whorls known as —

(A) Complete

(B) Incomplete

(C) Irregular

(D) Sessile

7Ð öë ¢„þœ š%þöìœîû xþ™!îû£yëÅ ~î‚ ö†ï’ hßþî„þ ”%!Ýþ£z íyöì„þ “þyöì„þ îœy £ëû éôôôé

(A) ¢Á™)’Å š%þœ

(B) x¢Á™)’Å š%þœ

(C) x!˜ëû!›“þ š%þœ

(D) ö¢¢y£zœ š%þœ
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8. Which of the following is not a single flower?

(A) Petunia

(B) China rose

(C) Sunflower

(D) None of the above

8Ð !˜öìÁ¬y_« ö„þy˜!Ýþ ~„þ!Ýþ ~„þ„þ š%þœ ˜ëûÚ

(A) !þ™Ý%þ!˜ëûy

(B) ‹îy

(C) ¢)ëÅ›%…#

(D) vþzþ™!îûvþz_« ö„þyöì̃ y!Ýþ ˜ëû

9. Reproductive whorl in a flower are —

(A) Stamen and Sepal

(B) Stamen and Carpel

(C) Sepal and Carpel

(D) Sepal and Petal

9Ð þ²Ì‹˜˜„þyîû# þ™%Ü™hßþî„þ £œ éôôôé

(A) þ™%‚öì„þŸîû ç î,!“þ

(B) þ™%‚öì„þŸîû ç †¦Åþöì„þŸîû

(C) î,!“þ ç †¦Åþöì„þŸîû

(D) î,!“þ ç ”œ›[þœ

10. Which of the following is a false fruit?

(A) Tomato

(B) Potato

(C) Orange

(D) Apple
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10Ð !˜öìÁ¬îû ö„þy˜!Ýþ x²Ì„,þ“þ šþœ éôôôé

(A) Ýþöì›öìÝþy

(B) xyœ%

(C) „þ›œyöìœî%

(D) xyöìþ™œ

11. A flower is scented, bright coloured and secret nectar. It may be —

(A) Insectivorous plant

(B) Pollinated by insect

(C) Sterile plant

(D) Pollinated by wind

11Ð vþzIµœ î’Å– ›•%ë%_« ¢%†õþ š%þœ íy„þöìœ !˜öìÁ¬îû ö„þy˜!Ýþ £z!D“þ „þöìîûé ôôôé

(A) þ™“þD¦%þ„þ vþz!q”

(B) þ™“þD myîûy þ™îûy† !›œ˜„þyîû#

(C) !˜Ü³þœy vþz!q”

(D) £yçëûy myîûy þ™îûy† !›œ˜„þyîû#

12. Angiosperm differs from gymnosperm —

(A) Being evergreen

(B) Smaller in size

(C) Having compound leaf

(D) Seed are not naked

12Ð ßþºþ™%Ü™„þ vþz!q”öì„þ îÄ_«î#‹# vþz!qöì”îû öíöì„þ xyœy”y „þöìîû éôôôé

(A) !‰þîû£!îûê

(B) “%þœ˜y›)œ„þ öŠéyÝþ

(C) ÷ë!†„þ þ™eë%_«

(D) î#‹ ˜@À ˜ëû
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13. The newly collected type specimen submitted in herbarium for identification is
known as —

(A) Holotype

(B) Neotype

(C) Lectotype

(D) Paratype

13Ð ö„þyöì̃ y ˜“%þ˜ ˜›%̃ y ¢˜y_«„þîûöì’îû ‹˜Ä £yöìîÅ!îûëûyöì› ‹›y „þîûy £öìœ ˜›%̃ y!Ýþöì„þ îœy £ëû éôôôé

(A) £öìœyÝþy£zþ™

(B) !˜öìëûyÝþy£zþ™

(C) öœöìQyÝþy£zþ™

(D) þ™ÄyîûyÝþy£zþ™

14. Natural system of Classification was proposed by —

(A) Carl Linnaeus

(B) Engler and Prantl

(C) Bentham and Hooker

(D) None of the above

14Ð ˜Äyöì‰þîûyœ ö×’#!î˜Äy¢ þ™kþ!“þîû ²Ìî_«y £œ éôôôé

(A) „þyœÅ !œ!˜ëûy¢

(B) ~‚œyîû ç ²ÌÄyrÝþyœ

(C) öîsþiy› ç £)„þyîû

(D) vþzþ™!îûvþz_« ö„þvþzz ˜˜

15. A tissue that does not contain lignin is —

(A) Sclerenchyma

(B) Parenchyma

(C) Collenchyma

(D) Chlorenchyma
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15Ð !œ†!˜˜ !î£#˜ „þœyöì„þ îœy £ëû éôôôé

(A) Sclerenchyma

(B) Parenchyma

(C) Collenchyma

(D) Chlorenchyma

16. Which are the external protective tissues of plant —

(A) Cork and Epidermis

(B) Cortex and Epidermis

(C) Pericycle and Cortex

(D) Epidermis and Cork

16Ð vþz!qöì”îû î!£îûyîîû’ £œ éôôôé

(A) Cork and Epidermis

(B) Cortex and Epidermis

(C) Pericycle and Cortex

(D) Epidermis and Cork
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P - II (1+1+1) G / 20 (N)

2020

BOTANY (General)
Paper Code : BOTG - IV - B

[New Syllabus]

Full Marks : 34 Time : One Hour Thirty Minutes

The figures in the margin indicate full marks.

Group - A

1. Answer any one question from the following : 9 ×1=9

(a) Describe the Nitrogen Cycle with proper diagram. 9

(b) Describe the structure of xylem with diagram. State the function of xylem
in plant. 6+3

2. Answer any two questions from the following : 4×2=8

(a) Write a short note on Food Chain.

(b) What is stele? Describe Protostele with diagram. 1+3

(c) Differentiate between intrastelar and extrastelar secondary growth.

(d) Distinguish between parasitism and mutualism.

Group - B

1. Answer any one question from the following : 9×1=9

(a) Define the term placentation. Explain the different types of placentation with
suitable diagrams. 2+7

(b) Write down the general characteristics of the family Solanaceae with
suitable floral diagram. Write down the economic importance of  this  family
with examples. 6+3
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2. Answer any two questions from the following : 4×2=8

(a) Name two botanical gardens of India. Write down the importance of
herbarium. 2+2

(b) Write the economic importance of the family Poaceae with suitable
examples.

(c) What are the accessory whorl and reproductive whorl ? Mention their
function. 2+2

(d) What are berry and legume ? Give examples. 2+2

îDy %̃îy”

!î¦þy† éôé „þ

1. !˜Á¬!œ!…“þ öë ö„þyöì̃ y ~„þ!Ýþ ²ÌöìÙÀîû vþz_îû ”yç ­ 9×1=9

(a) vþzþ™ë%_« öîû…y!‰þe ¢£ îyöìëûyœ!‹„þÄyœ ˜y£zöìÝþÆyöì‹˜ !šþöì:Ÿ˜ þ™kþ!“þîû î’Å̃ y ”yçÐ
9

(b) vþz!q”öì”öì£ ‹y£zöìœöì›îû †àþ˜ !‰þe¢£ î’Å̃ y „þöìîûy ~î‚ “þyîû „þyëÅ„þy!îû“þy vþzöìÍÔ… „þöìîûyÐ
6+3

2. !˜Á¬!œ!…“þ öë ö„þyöì̃ y ”%!Ýþ ²ÌöìÙÀîû vþz_îû ”yç ­é 4×2=8

(a) …y”Ä Ÿ,Cœéôé~îû ¢‚!Çþ® !îîîû’ ”yçÐ

(b) !ÜT!œ îœöì“þ !„þ öîyGþyëûÚ !‰þe¢£ ö²ÌyöìÝþy!ÜT!œîû ¢‚!Çþ® !îîîû’ ”yçÐ 1+3

(c) Intrastelar and extrastelar secondary growthôé~îû þ™yíÅ„þÄ vþzöìÍÔ… „þöìîûyÐ

(d) Parasitism and  mutualism-~îû þ™yíÅ„þÄ öœöì…yÐ

!î¦þy† éôé …

1. !˜Á¬!œ!…“þ öë ö„þyöì̃ y ~„þ!Ýþ ²ÌöìÙÀîû vþz_îû ”yç ­ 9×1=9

(a) ²Õyöì¢öìrÝþŸ˜ „þyöì„þ îöìœÚ vþzþ™ë%_« öîû…y!‰þe ¢£ !î!¦þ§¬ •îûöì̃ îû ²Õyöì¢öìrÝþŸöì̃ îû î’Å̃ y
”yçÐ 2+7
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(b) ö¢yœyöì˜!¢ þ™!îûîyöìîûîû ¢y•yîû’ ‰þ!îûe=öìœyîû !îîîû’ vþzöìÍÔ… „þöìîûy ~î‚ “þyîû
þ™%Ü™!î˜Äyöì¢îû !‰þeyBþ˜ „þöìîûyÐ ~£z þ™!îûîyöìîûîû xíÅ÷ì̃ !“þ„þ =îû&c vþz”y£îû’¢£ xyöìœy‰þ˜y
„þöìîûyÐ 6+3

2. !˜Á¬!œ!…“þ öë ö„þyöì̃ y ”%!Ýþ ²ÌöìÙÀîû vþz_îû ”yç ­é 4×2=8

(a) ”%!Ýþ öîyÝþy!˜„þÄyœ vþz”Äyöì̃ îû ˜y› öœöì…yÐ £yîûöìî!îûëûyöì›îû =îû&c xyöìœy‰þ˜y „þöìîûyÐ
2+2

(b) vþzþ™ë%_« vþz”y£îû’¢£ Poaceae familyéôé~îû xíÅ÷ì̃ !“þ„þ =îû&öìcîû !îîîû’ ”yçÐ

(c) xyî!ŸÄ„þ ~î‚ ²Ì‹˜˜„þyîû# þ™%Ü™hßþî„þ îœöì“þ !„þ öîyöìGþyÚ ~öì”îû „þyëÅ„þy!îû“þy vþzöìÍÔ…
„þöìîûyÐ 2+2

(d) öîîû# ~î‚ öœ!†vþz› !„þÚ vþz”y£îû’ ”yçÐ 2+2


